105

ks M & i

B ROFTEREZME X v,

D 17=-20x+5

® —5(1—-2x)=-10

0.2+0.2x=0.5-0.7x

1 2 1 4
Wogxmg =y g
1 1 3 3
[E— +__7_7_
® SRV u 77

2 5x=x—06

©® —x—39=—2(2—3x)

©® —1.2=-0.8—0.6x

/14

®5x—8=—4 @ —3—4x=8x—18

@6(7x—1)=-13

—0.3x—3.8=0.4+2.1x

R N S o
8 * " 16 16 8~
o4 5 _ 17

9 18 6 9°




F M & i
SN = —p A1
X7
/14

W RXOTRRERE X v,

D 17=—-20x+5 @2 5x=x—6 B 5x—8=—4 @ —3—4x=8x—18
20x=5—17 5x—x=—6 5x=—4+8 —4x—8x=—18+3
20x=—12 4dx=—6 5x=4 —12x=-15
5x=—3 2x=—3 x—% 4x=5

__3 __3 _5
U5 x 2 Ty
® —5(1—2x)=-—10 ® —x—39=—2(2—3x) @D 6(7Tx—1)=-—13
—5+10x=-10 —x—39=—4+6x 42x—6=—13
10x=—10+5 —x—6x=—4+39 42x=—13+6
10x=-5 —7x=35 42x=—17
2x=-1 x=-5 6x=—1
__ 1 __ 1
* 2 x 6
0.24+0.2x=0.5—0.7x © —1.2=-0.8—0.6x —0.3x—3.8=04+2.1x
2+2x=5—Tx —12=—-8—6x —3x—38=4+21x
2x+7x=5—2 6x=—8+12 —3x—21x=4+38
9x =3 6x =4 —24x =42
3x=1 3x=2 dx=—17
- -2 __ T
XT3 T3 * 4
1 2 1 4 3 3 9 1
O gx-g =g gx ST 6 8~
fidic 18 % 2 1) C i 16 % 21 T
2x—4 = 9—8x —6x+3 = —9+2x
13 3
10x = 13 = — —8x = —12 = —
X X 10 X X 2
1 1 3 3 4 5 1 7
A VO VR T s 9 F
Wi 14 % 213 T M 18 & 21 C
—7x+1 = —3—6x —8x—5 = 3—14x
4
—x = —4 x =4 6x = 8 X = —




